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- 7IN% 3RD KDY 7T SAND
To the father of the maiden, but not to the father of the corpse

Overview

"R taught that if one was 0IR1 a 77¥3, and the 771 died, he is not obligated to pay
the 01p to her father, since the 7110 writes' 77w *ax» 11N, but not 7nn *ax>. Our
MooIN reconciles our XM with a seemingly contradictory X723,

nvoINn asks:
- 19D PN N2 9D 2ANTD 223 (3,nm 97 JAPY DY) PID2T VINN ON)

And if you will say; later in 7791 P95, regarding a 77Vl who sinned, and she

eventually became a nax3, she is punished with stoning, for -
- 425 NNV NN PIYIT

We expound the P05 of 79wi to mean the 77v1 which she was previously,
similarly here too let us expound this 779917 2K 1101 to the 925 annw 77v1?!

NIBOIN answers:
- NPT NP NI NIDT NN ONNT Y U

And one can say, that there we interpret 7717 from the context of the verse,

and here we also interpret 77v17 from the context of the verse -
— 1939 RYP PINYY N9VIDY IRT NANY NINN INT ONN)

For there the word 17w is certainly coming to obligate a 7732 71029 7931 to
receive n12°p0, for if the 70 wants to exempt her from 777°p0, the verse should

have been silent and not mention 77w37 at all (merely M%) -
= NN NIV INDT NIIPDA NN RYT NIYT NIN)

115,20 (R¥n) 01T
2 This is regarding the 7w7D of ¥1 ow X°¥1m, where the husband (with witnesses) accuses his wife that she was a1
during 101X, for which the punishment is 77°p0 if she was a 771 (when she was 7). In this case the nar took
place when she was a 771 (between 12 and 12 '5) , however when she was convicted she was already a n7x12 (older
than 12 %%). If she was 71 when she is a N33, she would receive pan, not 7°p0.
3 The 0D (in 83,25 [XXN] 2727) writes "3 M2R01 131 737937 DX WXy, The 7710 could have just written TRXY (see
"9 there 7w17 7"7), the fact that it wrote 77v17 teaches us that as long as she was a 7731 at the time of mir, she
receives 117°p0, even though she is now a N2, The same should apply here (for it could have said 7°a8% 11, since
it says 77v317 *axY this implies) that he should pay the oip to the father of this woman who was a 77v1 in the past
(when he was 018n her), even though that now she is not a 7171 (she is a finn).
4 The entire 7w of 7"w¥m keeps on mentioning the term 77wi. Therefore it was not necessary to mention again
7w R R, if it would have said MRy we would know we are referring only to a 77w1 (and not to a 7731
7733 M027Y). Therefore since the 77110 added the word 77w, it wants to include something; we expound it to include
7732 027 7. [Alternately the 7w is from the extra '%";7, it could have been written 77v1 but it is written 7v3.
Then we surely would assume that by 773201 7791 there is no 7%°p0 since she is not a 77w1.]
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And we would have known that she does not receive 57°»0, for she is not a ;71 -
= 0195 X912 991019 HWAN IN) AN NYYN 29N NI2DNT TPI0EN XY 0IPT NAPNHY NI

However here (by 01%1n) we do not require a 7105 to teach us that if she died, he is
still obligated to pay the ©1p, for logically his obligation to pay is for the time of
78%2; that is when the 011X took place, and it is understood that we cannot exempt

him without any punishment, so without the P109 of 773177 °28% 11011 we would assume that he

is to pay, even if she died, why therefore does the 7710 write 7717 -
£99019Y NNN 7999

Therefore we must conclude that 77v17 comes to exempt him from paying; he pays
only 7737 °2aR?, but not 707 2N,

Summary
A extra word should be interpreted to either include or exclude in a manner which

is the opposite of the context of the verse.

Thinking it over
Which of the two 2>11%°% is the greater w11°r; the rule that 7732 710271 IMWIa 70T
she receives 2°p0, or that he does not pay 71nn *ar>?°

5> Can we say that it depends whether the T1°% is from the word 7737, or the X"7 of 7wan?
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